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Numbers 1

|

EIRECEVE 3

]

/mr 0,1,2,3,4,5,6,7,8,9 are digits.

Two-digit numbers:

23, 89

Three-digit numbers: 436, 974

i /& 3C

+, )\/$1, 1) ns#c?/%z—?
PR/ e - 23, 89
\_  =(B/=fr#- 436, 974

N
SI< Integers are all whole numbers,

positive and negative.

i /3L

/

EESH/IEREA,

BHRBAR /B R BRI,

2

4

/B FELR/ B RAAE, B/ 8L, AL, B, F45%,

Tens Units (2,418)
1 8

M Place value

¥4IaN The value of where the digit is in the number, such
as units, tens, hundreds, etc.
Thousands Hundreds

~

\_

TE/ T (LB /EE)- ,3, ,7,9,11.... 101 &% )

FAr BAL +A4L AMr/fELL (2418)
\ 2 4 1 8 /
(s  Even numbers - 2,4,6,8,10,...100, etc.
%S Odd numbers - 1,3,5,7.9,11,...101, etc.
(il e
B/ 1EE (N /28)- 2,4,6,8,10,...100 &%,

~

@ Negative numbers are all
<

numbers less than zero.
Positive numbers are the
numbers more than zero.

-4 -3 -2 -10123 4

N

]/

8/ ABRF T /BT
EHRLZEFHHT

k EBRZBFHIRT

5%




5% Numbers 2

CARE WS c X3

A prime number can be divided exactly only I:M
1 or itself.
2,3,5,7,11,13, etc.

1 is not a prime number.

— A RAATBAR 18k B Z BR R K80 R ARAE i 2o
—fEFEAT AR 1R B 2 B 3 R B0 = U A0 B,

#lan: 2, 3,5,7,11,13 %%o
ERIRE A FRZ/AFE—EERE, -

Factors are numbers which when multiplied
equal another number, e.g. 3x5= 15, so 3 and
5 are factors of 15. 1 and 15 are also
factors of 15.

AR SRR EIRE 7 — 1 H,
DB SRBUERRR S E 5 — B H,
Bilan: 3 x 5= 15,prLA, 3 R I5KIE T A/

\_ i, 1f11578 2 155 F 7,
(S A prime factor is a factor which is a prime
WZINN number.
2x3=6
wrgs | —NEPEIRFEREEE TR T,

—fEEFEFRERNIHE FRMERTRR T, )

A multiple is the result \
of multiplying a number by an
integer.

12 is a multiple of 3, 3x4=12

BRI S R UEREE,
B A IR 45 R UTE S 5,
1223, 451580 BB h3x4=12
1223, 41580 B A 3x4=12




S Addition

SN2 What is the sum of 5 and 8?
PAIRS 5+8=13

SRIBHI B HRA 42
SHB AR LA
5+8=13




What is the difference between 23 and
7?

23-7=16

23M7HIE R R % /b?

23-7=16




5% Multiplication

SE \;::\;: 3:5.5 the product of 7 and 5?

TRERHE 4?2
757 EE?
7x5= 35




5= Division

J

225' ] [ I%};% A% A remainder is the number left \

when dividing numbers which do
not divide exactly.

.

11+-4=2 R 3 (R=remainder)

—AERA R K% E B jE M mER AL
—ERRT R E B F R BFUERE,

/

How can you share 12 pencils equally \

v

= between 3 pupils?
12--3=4 pencils for each pupil
BRI TA LI S
TRIEBHE 1 283 37704 3 A2
12+-3=4




Three times five is the same as
seven add eight

3x5 = 7+8

=R[A-BI/N\R—F
=SRMmA-thndm R —5
3x5 = 7+8




More than,
less than

it b3t | 2 A

— 4 is bigger than 3, but smaller than 5.
PZIhN

3<4< 5

4R K3 (B RIS,

4R KiB3 {5 /i85,




4 )
WY
> < Area
\§ J
Cwx | [ HER/ERE
(zsm Area means how much space a flat (2D) \
74N shape takes up. We measure area in
square centimetres (cm?).
wiEx | EARFE DRI A BATH P EX

(cm? )3 i1 Z [T 7R,
JET PR P TEI (D) MR o 3th 7, 3470 P - K

(cm? Pk 1 E E77,

J

™\ L~
21N

/1%

-

Area of a rectangle = length x width

;ﬁ%ﬁ‘uﬁ/ﬁ%&)ﬁ x ()
Eﬁ%ﬁ@zﬁﬁ:%ﬁ x H(H)

~

J




5 Volume

(U

Comx | | R B
A”2 Volume means how much space a solid
PZEinN

(3-dimensional) shape takes up. We
measure volume in cubes, e.g. cubic
centimetres (cm3).

wrgs | R BTR BERGD)R K S A RIS T 3K - &
& B9 B0 : 77 K (em3),

BY AT B BE(3DER I B A RIM A ii?iﬁ!ﬁk?fﬁ/
. B A Blhn: 7 7 K (em3)

Volume of a cube or cuboid = length
/EE x width x height A
mrgx | MLTEREKTT R A
= KE x BRE)E x ®E
SRR AR -
= RE x A(ME x B
—— V=4x1x2 v = 3x3x3
V= 8omt = 27cm3

2cm

= /




-

Perimeter = Side 1 + Side 2 + Side 3

5% Perimeter

CRsP R

N 2] Perimeter is the distance around a 2D
2] shape.

\_

EENA

) -

Side 3=18 cm

\

mex | KA PHEED)ERABRNSGHHKE,
B R H(D)EMRE B ST R E,

— Perimeter of the triangle =
2N 18cm + 15cm + 15cm = 48cm

wrr | SABHAKEE =

18cm + 15cm + 15cm = 48cm




/——_\

straight line

curved line
horizontal line

vertical line

diagonal line

parallel lines

\perpendicular lines

HE/ERR

FH £/ H A%
BaLk/BaAR

E L4 /HOLAR

X B AR

FATEPATAR

EEHL/EEHR
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& Angles 1
\ J
x| | R 1
[Eré Any two lines meet at an angle. An angle\
Pl )

is measured in degrees (°).

: PRI ERRNAK, AR EH(CUE

~

J

ik ' 0 .
\§ FIAR MUST PR R R FE I, BT E ORI (o
(N o . . h on
9hs This is a right angle. It is 90°. An angle which measures - g0
90° more than 180° is called
\ MEX | xARERA/SEEREMA, BL 90°, W ) a reflex angle.
/
[‘;g An angle which measures less than < 9Q° D) [ L=
90° is called an acute angle. £ 13 180° KA ERAILA,
\51@180%’]%)3%2%@%
mgs | DiE90° M B AL, e
>iEB90° KA R AR A, '
\_ /
(S an angle which measures more )
™ than 90° is called an obtuse > 90° A
angle.
RIBX | £3490°KIfaEERRBHIA, "
\_ Z1H90° i F B K Bl A Y,



//upload.wikimedia.org/wikipedia/commons/6/6c/Right_angle.svg

™\ [~

RS Angles 2 J
x| g 2 ]

\

(A straight angle c lies on a straight

P2 line and measures 180°.
b > 90°
a < 90°

REX |—&EH% (c)F 180° MR &F A, 2L 1800
R () 180°, T4 T fi, >

-
(" wu A full angle (= a circle) is made of four h /m% \

WZhS  pight angles. It is 360° (4 x 90°= 360°), Sh= Corresponding angles make an
'F’ shape.
RS A EmER—A 2 AR ER), —t-

T B A e — M 6 (02— (A2, W [l iR T

\C BAH360° (4 x 90°= 360°), J 7, h
At ssm—AF 98
@ w4 Alternate angles are angles that sit opposite \ %
74NN each other, created by one line crossing two \ ° /

parallel lines to make a 'Z’ shape. All alternate
angles are equal (=, the same).

wrgx | —FEL FEPFTITRER T
—NZFGIR,, BEXTARXS B A R SR
FEX, X B X AR A A
—RREAR IR T BT T ARG
BT —EZRR,, BB A A
\ R FERRER, BN AEAEA,



//upload.wikimedia.org/wikipedia/commons/d/d5/Circle_and_its_center.svg
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Y

=5 2D shapes 1
wx | | 2DCFHE)E 1

S

fmm A square has four equal sides an )
N  four right angles.
MR | Fr s REmE A EA,

\_ 1E75 TR MY 3% RS A DU R EL A )

f )
A7 A rectangle =% 2o
74NN It has four right angles and

opposite sides are egual. = ]

RIBEX | K777 GE) B UAEARMBER A FEKERN L,
\_ R (EiE) B LM EA MBS HEFRER SR, )

/mlm A parallelogram ")
P4 Opposite sides are parallel and
opposite angles are equal. E

BIEX | AT AT IS

FEX BT X F A S,
_ B NGRS, Y
%: g A quadrilateral - Any shape with four straight sides. * -
| ATAEAMRRERILAT, |

VU8 EAR TR ERRIATE,

\.




%I%ZD shapes
x| [ 2DCFE);

(mm A pentagon has five sides and
2] five angles.

W N

mgx | LARE RIGLMAAF, , ,
. B A TSN AIEA, — phs A Kkite - 2 pairs
of equal sides.
a A hexagon has six sides )
Pl and six angles. ke
S AT AR A, REFA P K EAR L, j
\_ BT ANEMAMEA, Qﬁ%%ﬁﬁﬁ%ﬁ*ﬁ Gilinpe /
(S A tra
pezium - One set of sides
PiS of a 4-sided shape is parallel.
miEx | BIEE —XRITE,

the opposite angles are equal.
8/ X

ST DU K B B IR 48 AT MR R B,
B T AR R 0 B AR TAT R A R A

N B — BT, )
(Syza _I_ A rhombus has 4 straight equal sides. B
' The opposite sides are parallel and ’
X




A PZ Je@

)} Ny \“Q) O{

2358 ][ gmﬂé/giéﬂé ] p R CORRSH:

/s A Polygon is any flat shape with three or more\ | ZZhS I:ZI);QI::S aﬁg" be
EE straight sides. When all the sides and angles irrge ular
of a polygon are equal, it is called a regular gdiar.
polygon. a2
wEx | ZIWERANE=ZKU DG FEE & RFIKE LR (IE) KA,
FH R AR A B, X AR (IE) 24 7%, \_ ZEBEFRFRIOE)ETHA, -/
25T R =R L BB & 1 F T & RS RE

RS E A E R S ERRI(E) S8,

/ \
=M

triangle

quadrilateral 947 / PUi&T% Q
5  pentagon FiaF | HiB Q
6  hexagon INIAF! | 758 T E
7  heptagon gwub A 5 O
8  octagon JILF | )\ O
9  nonagon A | fLisk \/\/_\/\

\10 decagon T4 | 8 | J




Circles 1

radius: any line from e 27 I B 2 B e —
the centre of the circle ppom )
to the circumference ﬁéﬁ:ﬁglbggﬁ%_%
diameter: a straight line KIE#R
from one side of the B ETEOMNEFERIE
circumference to the B —E%
other side through the = /X:5@i&E .0 & [EE 2] EH
centre of the circle B —ELR

O circumference: the V=R BiAN)ERS
perimeter of a circle A : A A&

circumference

area
diameter




= Circles 2

vahs

tangent: a line which
touches the D4 AE Al I B A — I 2%,
circumference at only TAR: TEMR K BIE—REHIAR,

one point

semicircle: half of a EET A H B

circle 2 BT 5 [E] B
concentric circles: . U,
circles which have @'?@@:@ ":‘\B(Jg
the same centre 73 [ P < P — [ [




52 Triangles 1

EPjC _“/")

NN
~

@ »i A triangle is a shape with
»2hN 3 straight sides. It also

has 3 angles. The points of
a triangle are called
vertices.

=RAFMEE=EL&N=14,
=R BIRIIRAT R,

=AM EE=EHRN={E,

\ =13 IR ITR TR, /

ég The angles of a triangle _ . \
always add up to 180°. a+b+c=180C

e/ :ﬁ,, ‘

=N EINERKRZ 180°
=& £ B InE sk K=& 180°

o )

fa] /L
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“~ Triangles 2
x| = 2

[5‘2[@ There are different types of triangles.

wex | AREK=A

swpz Lsosceles - Two sides are the same
¥  |ength. The two angles at the
base are equal.

ﬂ‘sm Scalene - all sides and
2N :
angles are different.

T e
W - ,ﬂ% w . AY f AY == }
R — R TR hened || R R e i

N2 .
wzhs Equilateral - All three angles are

equal. All three sides are the
same length.

rEx | FL=/AE: ZANMMEAR, Z8RKE—FE, fo
FE A ZEAEMERZERE R,

Right-angled - One of the angles
measures 90°. The longest side is
called the hypotenuse.

BEX | ma=aK:
— MR 90°, BKHhgNRh,
—EAR90° BENBGER:S,

=BARRE, ZEAREAS 1,

N
1N
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% 3D shapes 1
wx | AR 1/ SIS

/ A cube has 6 square  IEJ5 /A NTHAR R K/INKF TR

faces all the same |, BAF /AN EM+ 0%,
size. It also has 8 Eh A NEHBERDMFEER |

\.
~

\

vertices and 12 m, BEA /ETRE M+ 284,

edges.

A cuboid has 6 KT HEAERTRE, /AT [
rectangular faces, 8 FfI+=i4%, —— ==
vertices and 12 RITEANEHRGRE,,/\EIR

edges. A 84k,

A square-based TR EFERE 5|,

pyramid has 1 square W=/, AT AN L%,
face and 4 triangular FHEJESFELE —FHHEH, W
faces, 5 vertices and HE=F%, FLETEE L84,

9 edges.
A sphere has only BRiERE-SHKNE, BRAW
\ one curved face, no B4,

vertices or edges. HRERAE — B E, B AT n
HEUEAZ,
[ A net is what a 3D shape would look like if it were opened out flat. ]
TEW RSLARTEAT I 5 FIEE RIAR [ TEAR LRI TT BA1R P I E KB R

—




=& 3D shapes 2
[ e [ SLHATY 2 / ST 2

= mE

A cone has a F4EH — AR, — 72 mE
circle as its ME—RA,
base, a curved B¢ —E B K, — PR thE

face and a point  FIf5—RE;,
on the top.

A prism is a B ()R — AR
solid shape with IR, EHIBIH—FEK/D, A K
matching ends. BEA FERKE,

It has the same (A E—HERERE
cross-section all iR, BEHMEH—EKD, BERE
across its length. &,

A cylinder has AT I S T, B B
circular faces J5THI S
at each end and EREHRmREEE, EHE

&curved face. 7 T 2
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s Symmetry
wx | [ SRR/ B

(ﬂﬁ Symmetry is when you divide a shape in \
half and one half matches the other
exactly if you fold it or reflect it.

J

e | B DETBERKR HLE T KR
INBITEAR, IXRERTHR,

e — AT BT R IR, WIB A T W K
\ INEIFEAR 18 R BHHE, /

@ »Z The line which divides the shape into 2 equcN
pZIAN parts is a line of symmetry. Different shapes

can have 0, 1, 2, 3,etc. lines of symmetry.

Ra

0 1 4
I
B — AT 53 PSR4 A 5] () 22 2 MY VR X R, &
MEREE A RIEERIXTFREA,

s — {0545 2 P A ) SR M S R, 2%
k TR 67 I SR, /




=& Order of rotational symmetry }
|| MEREERET / SRR

@ﬁ Rotational symmetry is when a shape is )
PARS rotated a few times without changing its
form.

RIBX | sFRieE R M4 — AN A DA BRI BT AT,
R R R — B T DA B R T S T

N\ </
Order of rotational symmetry
MR EF / N REE T

Order 1 (none) F1: 1
EFFL: &

Order 2 EF2
SEFF2

Order 3 EF3
EF3

Order 4 XE 74

E -4
Order 5 EF5

N

J/




=% Transformations 1 |

v | (BBEIPRL/BHRL)
(N )
A Rotation means turning around a
centre.
wrgse | e RN OS],
Je iR A v Lo i ES
- J
f% Reflection is when a shape is flipped over
a line.

wEx | REBE¥—NMERE—RBERIFEAL,
9 R — AR — AR B R AR, )

~

N2 : . -
Phs  Translation means moving/sliding the shape

without changing it.

wgx | CFBRMREBIEBINEE, CHRRB BN,

\_ FBREREBETITEE, BRI ARE #, y
p

E Congruent means the same.

P EHWHRRESRERE,
N SRR ESHRE,




:ﬂﬁ Transformations 2}
x| AR/ BRFEIR2
)

/mm Tessellation is a repeated pattern
VAN

of shapes.
gy | SRR EREBRES A, ﬁ

A R — 1 B R E TR E AR K,

\_

/EE Enlargement means to make bigger.

mEx | T RRBAKER,
BRRBMARHER,

grf_j Scale factor is the ratio between

¥4IN two sets of drawings, e.g. scale
factor 2 (ratio 1:2) A is 2x bigger
than B.

s | PRI TSR P R R B R il R 2 (BB
1:2, AABRI2FE R,
EA5] B 7 B T [ EE R A R 2 (BB

\ =12, ARl &BRI2FEK,




%E Graphs 1

7

\

W][Eli%lliél

Y-axis E‘; :'f! g | )
i e
Y% / ym gr'd Aylauhlushuwiauuunwcnluur Zﬁ/ﬁgﬁg
\ﬁ‘*g / ﬁ‘% 2
- FH u 9 FEE
N1 coordinates
: \ frequenc
R e TR AR | AR : 'rab?e Y
N\X—ctxls i e L B/

axes X/ X tally | =——7" | JAEE
BB MU J

rainfall in1-6th January

35
30
25
20

rainfall in mm




5 Graphs 2

7

\

x| [E® 2/ ]

™\ [ ~]
PZinN

~ Use a bar chart when
~ you want to compare

things between
different groups.

Use a line graph to
track changes over a
long or short period of
time.

A pictogram uses
pictures to show data.

Use a pie chart to
compare parts of a
whole.

/%X \
F— AR E R LB [F) 41

HIZR T (B, M),
P — B IR [ R EL i A [ 4
ISR B (4, Y0,

P22 I RERGAE—BUT TR Y
KB,
JH A6 2R BRERAE — B e Tl N
R,

P 547 B R S BORH(HR),
P B8 R B BORH (B,

FA G ER s Bk 2 £ 8857
R £ I 2R tkiﬁi%ﬂﬁ?.%w

rainfall in 1-Gth January

Favourite pets of pupils in our class

Pets

Frequency

dogs

7

rabbits

4

cats

10

guinea pigs

10

horses

5
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Data handling

x| BB/ B R

J

[&'ﬁ Data is a collection of facts, like values or'\
PAIRS measurements.
mgs | R T FEVE SN EE 2 SRR, X EFR

mEE,
KR T BRI B R B E /AL, BRI
~EE, -

v O\ ([
A

i /%€ 3C

The range is the difference between 'rhe\
lowest and highest values.
11-2=9 the range is 9

WEEE (T F) R m MR ERZE R,
11 - 2 = 9 X EFEE)R9.

2= 5 [ (3 ) R e e A B IR I 2 1

Favorite Pets

Tally Marks

A At

Il

At |

11 - 2 = 9 EEE@EE)R.

/




s

WYZs

[
\

Averages

wx | [ PHE

WY
21

[} - 98

The mean is the average of a set of numb%
To calculate it: add up all the numbers and
divide by how many numbers there are.
2,2,4,6,7,10, 11
2+2+4+6+7+10+11=42 42--7=6

the mean is 6

(P 5 R — A T B, XA S KT
ARk G HA %2 K% E MR,

B (P B R — B KT IE, B T
AR IER 2R A % 1HEE MR,

2,2,4,6,7,10, 11

~

2+2+4+6+7+10+11=42 42--7=6
XA / BREPER6
- — .
;:; Median is the middle number in a set of
numbers.
2, 2,4,6,7, 10, 11 the median is 6
wEsr | FABRRE—HBFH
oL B — SH B O P R B
\_ 2,2,4,6,7,10,11; F{7 26, )

NV
/

eI/ % 3C

:

¥4 Always put the numbers in
order, from smallest to largest!

S EE RN BB L
REE BB/ MBI AHS !

\

J

A wi The mode is the number which

LN

appears most often in a set of

nhumbers.
2,2,4,6,7, 10, 11
the mode is 2

|| X

\_

gg%&—ﬁﬁ?*ﬁﬁ#} HBLH)
gg%&—@ﬁ?¢wﬁﬁzmm
2 2 4 6, 7, 10, 11
BB 2

%
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LS Fractions 1
wx | [ 8/ 1'53\%(1 e

2X5+2 12

X0

/ example \
AN ) ils- '

ZinN

Numerator _ (top) — 3 ~—4F (LEH¥F)
Denominator (bottom) — » 8 «— S8 (FTHEBMEFE)

Mixed number 1 W / B
whole number 2= \IER¥ / EEB¥
and proper fraction 2 ol

\_ T sy 5B




-

5% Fractions 2

\_

wx | [ %2 / w2 )

- o N\
Improper fraction (top 6 (57T RE 5 tF)
larger than bottom) Z B 85 F K@ 53 )

P fracti
(I::‘Il?::m rI‘:Jllf':ge(:'n‘l'hcm top) % ;gﬁgﬁgi’%gg

Equivalent fractions
Different fractions ?ﬁ%ﬁﬁfﬁﬁ lﬁ%ﬁfjm{a‘
that have the same T xﬁmﬁﬁﬁﬁﬁlﬁjm@

value
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: SieDecimals 1 J
RS SV 98

b3 _
m-0.53

“'A 4 3 l
=12 Remember the decimal pomt]

/ oS \ ML | 2 NIRRT R /N B !
fraction decimal a

You write parts of
SB/BE PP yhole number (fractions)
v v as decimals.
Q 1 whole 1.0 I, 8
@ ” 05 — AN K% B (5380 AT BA
' F/NEE,
@ y - 838 73 9B B (-8R PAH
4 25 INBRE,
PS «  decimal places
O T 65 VNS G AN DA
decimal point

KL/ /NSRS




N\ [ 7

PZaInN Dec i ma I S 2 hundredths

/J\ﬁ 2 / /J\& 2 Yens units  tenths

thousandths

Adding decimal numbers:
Line up decimals and add.

ANECHE D 136.04 + 102.27 —»= 136.04

BN HER R A T +102.27
/ANBUE N
EHUNBHERE A A TR

S Subtracting decimal numbers: 75.25-3.21
rm

Line up decimal points and
subtract.

NV BHE DB E A T
NEUHIR: BB A TR
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sz Percentages

&
x| EATH(E), EAMUM
ANz Percentage wey | BAERAN 5100 }
¥4%S  means ‘out of FI%HE,
100'. B B EE 100 8
\ HIEHE,

is the same as 0.25 or 25%.
is the same as 0.5 or 50%.

is the same as 0.75 or 75%.

/N
Dlw ©je pje

percentage —> decimal (= by 100) 70% = 0.7
decimal —> percentage (X by 100) 0.7 = 70%

e | $F10.258025 % —RE /5
£#10.5850%— /1%
2510.758,75% —FE/BR

ME 73 BN/ BB - R A /NG 100
#ilin: 70%=70-+-100=0.7

MBI B R /DB R E 7 & 4% X 100
Qﬁﬂt 0.7= 0.7%100=70% /




f g AN v A
= ][ AT BT

I ¥
gl

|

4 mlm Volume/
74N Capacity

The measure of the

mEx | ARLAE AR )
BB, BEE. A=

{0'- gallon

amount of space inside U B2 5 A A ) 2 [R)
a solid object BEE A H
\§ J
ﬁ;g /S \
Metric Units /. VAN
ml millilitre ml EH /) EH
| litre I F
cc cubic centimetre cC A EK (cm3) /T HEH (cm3)
Imperial Units Vo AT / B B
fl.oz fluid ounce fl.oz ik T / B
pt. pint PT. @Bt/ &R

9al- yne /ms /

lcc = 1Iml
11 = 1000ml

20fl.oz = 1 pint
8pts. =1 gallon

D

200ml

()

5 litres



[ s Weight/mass

ERTLE
[#il SENEE

\ st. stone

/:\:g i} B8
Mass
The measure of the &/ HE
amount of matter in a E kYRS &
solid object E R E B E
Weight EE
The weight of an object Yotk i) E B N & Ty A4
\changes with gravity. %ﬂﬂgﬁﬁﬁlﬁﬁﬁﬁ%%/
/;%% Metric units s ﬁ%ﬂﬁﬁ/’&%ﬂﬁﬁi\
mg milligram mg E5R
g gram g %
kg kilogram kg 2F (F3x)
: : B il LA/ sl BEAL
Imperial units —
0z ounce oz #H]
lb  pound Ib &

st. & /

1000mg = 1g
1000g = 1kg
1000kg = 1 tonne (ton)

160z = 1lb
14lb = 1 stone




R Length/dis‘l'ance]
| | KEERBER / RERIER |

/"SI Length is how long | WX | KRBESTRART (M) YK AT

things are. BE B SRR T (W) RS L,
Distance is how far TR R (W) R
things are. - ?:Eﬁﬁﬁﬁmﬁﬁ(%ﬁ‘)ﬂﬁﬁi&o
Examples: —XERN20A G (BRI, _
A ;enpies 20cm long. — X E 0N ER)E, 10mm = Icm 12 inches = 1 foot
London is 199 miles from R SAHTRF199K R 100cm = Im 3 feet =1 yard
Manchester. gﬁtﬂﬁﬁﬂfﬁﬁ%ﬁ%ﬁ%l99 1000m = 1km
H,
(BB pemicunits  [PFE ] ABLBAUABSE
mm millimetre mm 2K/ ZXK
cm centimetre cm A4 EKAEK
m metre m 2ARXK
km kilometre km AR
Imperial Units X AR E X
in inches in ZE~F
f'f fee‘r f'l' 3’@ R

\ yd yard yd 1 /i /




o

r D
N2 ?
>< Time
- y
4 ‘ N
x| [ BSIE) / ReR
C“Xi Time mr | B8] /s A
AT what time -2 FEAT ARSR? | FEAT SR ?
How long did it take? ST 2K ZERBRE?
How long did it last? BRETEA/FETEA?
How long did she spend? A T 281 / Fefid ?

J

-

Units of time
S seconds
min  minutes
h hours
d  days
wk  weeks
yr  vyears

per annum

e

s B

min 43 (5351 | 438%)

h  /NBF /DB

d X (B)

wk /B

yr

p.a. /

60> = 1 435/ 57 5%
607 = 1 /NS [ /Ny
24/NF/FF =1 K (H)
7X =1/

60s =1 minute
60mins = 1 hour
24h =1 day

7 days = 1 wk

She was in the cinema for ..

HAE B ..

WAEBRBEA...



-

=& Temperature

s ||

BE EE

/m 2
SE=L Temperature

We measure temperature
in degrees Celsius (°C)

We also measure
temperature in degrees

F\ahr'enhei'r (°F)

e | VR [ BE )

BATHBECRMERE (°C )
BT A RRBERE (°C )

BATIH AT H 42 FORWUENR B (°F)

AP th Ay A 22 FOAR IR (°F)

J

boiling point
of water

body temperature

freezing point of

Qfer'

N\

100°C  JKETHBR / JKEIHBRE
100°¢

37°C ki@ / BB 37°C

0%C JKpywk o / 7Ky ok B

0°c /

HTITETETETTTIT
RRARRRRRRRARARRRAE

& @ §0 1 13 13 4

Tim!min




=& Comparison
LB / HeEg

higher

the lightest

G /%
S (GO |

15°C is lower than 25°C. 15° ¢ RIEEF/R 25° C
13kg is heavier than 25g. 13F 25 E
150m is longer than 120cm. 150Kt 120E XK/ &

90l is more than 20ml. 90F L 20EFH %2




E:\/Q We write prices like this: £3.25

ar |RANTZFEE 4% £3.25
ﬁ%(ﬁﬁ)ﬁ%ﬁ% fI: £3.25




%S Instruments
s | | A8 (TR / 858 (TR)

set square FH(FHANL
FEAH(FHA)E

protractor ~ EA%HK, SEM
BAR% 7ES

compasses F# / B O




